
MATH 1210 Summer 2013 Quiz 1

Surname: ttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

Given Name: ttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

Student ID: ttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

1. Prove the following using induction. For all n ≥ 1,
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1 · 2
+

1

2 · 3
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n(n + 1)
= 1 − 1

n + 1
.
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2. Turn the following sum into sigma notation

2 · 3

1 · 4
+

6 · 7

5 · 8
+

10 · 11

9 · 12
+ · · · +

398 · 399

397 · 400
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3. Using the sums
n∑

i=1

i = n(n+1)
2

and/or
n∑

i=1

i2 = n(n+1)(2n+1)
6

, find the sum of

3∑
i=−6

[(i + 6)2 + 2(i + 7)].
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